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QUESTION 1

Which architectural deployment type/model is supported? 

A. In a standard VMware Cloud Foundation 4.x architecture, a VMware Lifecycle Manager appliance is deployed in each
Workload Domain 

B. In a standard VMware Cloud Foundation 4 x architecture, each Workload Domain hosts its own vCenter server. 

C. In a consolidated VMware Cloud foundation 4 x architecture, workload VMs and Management VMs must share the
same resource pool. 

D. In a consolidated VMware Cloud Foundation 4.x architecture, VMware vRealize Automation is deployed in the
Management Workload Domain. 

Correct Answer: B 

 

QUESTION 2

During a design discussion around VMware Cloud Foundation, it was identified that 

1.

 The customer has workloads that have requirements related to logical load balancing 

2.

 The customer would like to size the different Edge nodes based on application requirements 

How can these requirements be met when planning for VMware Cloud Foundation NSX-T Edge deployment through
SDDC Manager? 

A. Use Workload Management 

B. Use NSX-T API calls 

C. Use the Custom option 

D. Deploy Bare Metal Edges 

Correct Answer: C 

 

QUESTION 3

For which VLAN must a DHCP server be configured prior to performing the VMware Cloud Foundation bring up
process? 

A. NSX-TEdge Overlay 

B. Management 
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C. NSX-T host Overlay 

D. NSX-T Host 

Correct Answer: C 

 

QUESTION 4

A system administrator noticed that a third-party certificate has expired in one of the VMware Cloud Foundation
component resources. The administrator must replace the expired certificate. 

Which pre-requisite step is required for this process? 

A. Verify that the certificate is configured for basic authentication. 

B. The Certificate Authority configuration files must be configured and packaged in .tar.gz file. 

C. The valid Certificate Authority server must have the correct roles installed. 

D. Ensure that the bring-up process is complete and successful. 

Correct Answer: B 

 

QUESTION 5

Which two actions are prerequisites for upgrading VMware Cloud Foundation 4 x? (Choose two.) 

A. Validate that all required bundles for the upgrade are downloadedsuccessfully. 

B. Acquire a temp IP range for the new products components deployed during the upgrade 

C. Take a backup of SDDC Manager 

D. Take a snapshot of all workloads running on VMware Cloud foundation 

E. Validate that all required license keys are available for the newer products versions 

Correct Answer: AC 
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